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Mid-Term Review 4/9/18

Unit 1: Relationships between Quantities and Expressions
1. 5x% 4+ 6x — 15) + (3x? — 8x + 9).
(BEES
2.) Find the difference (x — 7x? —2) — (6x% —9).
X-‘ix F OXE2-6xXH] = X>12x® +5>\ _—
@ Multiply the polynomials (5X — 9)(2x +:

—4

4.) Simplify v75x7
20

5.) SimplifyV5 — 9v45. r+=2S%

6.) Simplify 7V3 - 12\/:5_ ( O X [l VIR S k

7.) Simplify (V10) (V4)

8.) Simplify V6(2 + V/50)
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Unit 2: Reasoning with Linear Equations and Inequalities

9.) What does an equation with infinite solutions look like? What does an equation with no
solution look like?

X Y X
10.) You are purchasing paint and paintbrushes for an art project. Tubes of paint cost $12
each and paintbrushes cost §18 each. You plan on spending $75 and purchasing a total of

6 items. Which linear system best represents the situation?

X+ = _ .

|\ 2x + %y =18 ety — 20 \og'\ok*

11.) What 1s the solution to this system of equations? { xTy= Q‘*

6x — 5y = 12 .
n

P |\C\\<\°

e\
-
. . . ) . (8x+y=-16
12.) What is the solution to the following system of equations? {—3x +ty=-5 x — [}
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Literal Equations.

13. Solve forv: xy — /=m
V=T

15. Solve for w: V =1wi

[S N

April 09, 2018

14. Solve for y: = St o= d

% __'k/\ ——C>
ofC Y —?so\ A<
16. Solve for p: p =n

P-—n
e
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17.) Graph the following inequality: | y21x+2 b = MX ’\"\0
4
m:j_ b: /Q\ A >,_—_-<.|.
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18.) Graph the system of linear inequalities:
5 _-5
g.‘\lo‘ 15—5I—2 -
1 ! — Q>
y<——x+2 -—0 Yoa
Qaswed 7N =T b

Use graph to answer questions 16-18.

19. What point could be described as the REALTIVE MINIMUM in the graph? i\ S
20. What point(s) could be described as an x-intercept in the graph? x=z—2 1~

21. What are the intervals of ingrease, dechmnstant?
—l52 -\ q,)

X £ O 00l x¢ .
6-5 L X L0p) (04)(4 |-5> sy
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Unit 3: Modeling and Analyzing Quadratic Functions
22.) What are the two binomual factors of the polynomial shown? b°$
-

3x2 —8x + 4 * ‘DX

23.) Solve the following by factoring and using the zero product property. x* — @ + 24 = 0
25 ")“’>< Y2 (\OX oy =0

24.) Solve equation by taking square roots. 5x% + 8 = 253

9

25.) Which 1s the factored form of 7x” + 28a — 847
2 7

TR 4 —\L)
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Q) AxP— % +¢
A= b:-—-% <= .

QC;;:)\ U —72
—ON\ED X e ~9~74
) - L
L( X~ (X—Q)\J
> 24 =C
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26.) The length of a rectangle 1s 8 cm more than four times the width. If the area of the
rectangle is 94 cm?, what is the width of the rectangle? (HINT: A=lw)

WidH W

(2“ e w g 96cm?
SK’:\-\

Wt = a6
L4+t w =26
L +8W —A6 =0

L(-(wa D w —3-“—\ =0

é—at._l_ L(wre) (w-4) =0

w=r~b or@
CEINEEY

Aw+8

10
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27.) Tell whether the graph of the quadratic functit = —2x% — 10x + 8 opens upward or{downward N
Explain. dcause q .\$ '\esq-hde

For questions 28 — 29 use the graph below.

28.) Identify the vertex of the parabola. Then give the minimum or

(RS TSI N

mfinm?n value of the function.

—';. m\mmvm\ 3 = —

1 3 2 1 \‘1/ 37 29.)Find the roots of the quadratic function.
.2 X=-05x=25

11
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30.) Order the functions from narrowest graph to widest graph.

f(x) = 2x%, g(x) = %xz,and h(x) = x? (¢l‘\'\-

Sheetdh \ ces’:
£6Y, W, quy

31.) Using f(x) = x2as a parent graph, write a function that includes a translation of 4 units to the right?
22—
L) =X =4)
32.) Using f(x) = x?as a parent graph, write an equation that shows translation of 2 right and vertical

stretch by 3 to graph. -(: (X) — 3 ( % __Q>‘2.

33.) John threw a ball straight up with an initial speed of 20 meters per second. The function
y = —4(x — 9)? + 25 describes the ball’s height, in meters, t seconds after John threw it. What are the
coordinates of the vertex?

Verex: QC\,A‘SB
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o=-! b=-%8 _ —le

e Graph-f(x): —x* —8x —13 35. aph f(x)= fo_ 16x + 33
x==b = - -BD{CH= ~(-3-%(-D>
Sa _ 2EDfw)=3 === 16

x :—% Y 3 r;(:z) 4 =T
&= —;E—w-s (D=1 Y=(4.)

IJ\
|\
1

=t
: 3 4 5 6 7 8

\1' ’ :1() -

Y




	Page 1: Apr 8-12:37 AM
	Page 2: Apr 9-3:15 PM
	Page 3: Apr 8-12:40 AM
	Page 4: Apr 9-12:49 PM
	Page 5: Apr 8-12:40 AM
	Page 6: Apr 8-12:41 AM
	Page 7: Apr 8-12:41 AM
	Page 8: Apr 8-12:42 AM
	Page 9: Apr 9-1:13 PM
	Page 10: Apr 8-12:42 AM
	Page 11: Apr 8-12:43 AM
	Page 12: Apr 8-12:43 AM
	Page 13: Apr 8-12:44 AM

